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TEST III 
UNIT VI INDIAN ECONOMY & UNIT X APTITUDE AND MENTAL ABILITY 

 

1. When did Ragnar Frisch coin the words “Micro” and “Macro”? 
a. 1873  b. 1903  c. 1923  d. 1933 
vg;nghOJ Nuf;dh; /gph;];r; “ikf;Nuh”kw;Wk; “Nkf;Nuh” vd;Dk; gjq;fis 
cUthf;fpdhh;? 
a. 1873  b. 1903  c. 1923  d. 1933 
 

2. Who wrote the book “The General Theory of Employment, Interest and Money”? 
a. A.J. Brown    b. J.R. Hicks  
c. John Maynard Keynes  d. David Ricardo 
“Ntiytha;g;G> tl;b kw;Wk; gzk; gw;wpa nghJf;Nfhl;ghL”vd;w E}iy vOjpath; 
ahh;? 
a. A.J. gpuTd;    b. J.R. `pf;]; 
c. [hd; Nkdhl; fPd;];   d. Nltpl; hpf;fhh;Nlh 
 

3. Macro Economics is also knownas ________ 
a. Expenditure Theory  b. Income Theory 
c. ConsumptionTheory  d. Price Theory 
Nghpay; nghUshjhuj;ij_________vdTk; miog;gh; 
a. nryTNfhl;ghL  b. tUtha; Nfhl;ghL 
c. Efh;TNfhl;ghL   d. tpiyNfhl;ghL 
 

4. Who defined the term economy as “A system by which people earn their 
living”? 
a. A.J. Brown  b. J.R. Hicks c. Adam Smith  d. Karl Marx 
ahh; nghUshjhuk; vd;w gjj;ij“kf;fs; jq;fs; gpiog;ig mikj;Jf; nfhs;Sk; 
Kiwia Fwpg;gJ” vd;W tiuaWj;jhh;? 
a. A.J.gpuTd;  b. J.R. `pf;]; c. Mlk; ];kpj;  d. fhh;y; khh;f;]; 
 

5. Consider the following  
Assertion (A): Globalism is also termed as “Extended Capitalism”  
Reason (R): “Globalism denotes the new market ideology of globalisation that 
connects nations together through international trade and aiming at global 
development. 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct and R is not the correct explanation of A 
c. A is true, R is false 
d. A is false, R is true 
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gpd;tUtdtw;iwMa;f 
$w;W(A): cyfkak; vd;gJ “tphpTgLj;jg;gl;l Kjyhspj;Jtk;” vd;Wk; 
Fwpg;gplg;gLfpd;wJ. 
fhuzk; (R): cyfkak; vd;gJ cyfkakhf;fypd; Gjpa re;ijf; fUj;jpaiyf; 
Fwpf;fpwJ> ,J rh;tNjr th;j;jfj;jpd; %yk; ehLfis xd;whf ,izf;fpwJ 
kw;Wk; cyfshtpa tsh;r;rpia Nehf;fkhff; nfhz;Ls;sJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ Atpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; Rvd;gJ Atpw;F rhpahd tpsf;fky;y 
c. A rhp>R jtW 
d. A jtW> R rhp 

 
6. Which of the following is called as “Command Economy”? 

a. Capitalistic Economy  b. Socialistic Economy 
c. Mixed Economy   d. Laissez faire Economy 
gpd;tUtdtw;Ws; vJ“fl;lisg; nghUshjhuk;”vd;W miof;fg;gLfpwJ? 
a. Kjyhspj;Jt nghUshjhuk; b. rkj;Jtg; nghUshjhuk; 
c. fyg;G nghUshjhuk;   d. muR jiyaplh nghUshjhuk; 
 

7. Consider the following 
Assertion (A): The Private Entrepreneurs discourage their business operations 
and innovative initiatives in Mixed Economy 
Reason (R): Fear of nationalization is among private companies 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct and R is not the correct explanation of A 
c. A is true, R is false 
d. A is false, R is true 
gpd;tUtdtw;iwMa;f 
$w;W(A): jdpahh; njhopy; KidNthh;fs; mth;fspd; thzpg eltbf;iffisAk; 
Gj;jhf;f Kaw;rpfisAk; fyg;G nghUshjhuj;jpy; RUf;fp nfhs;fpd;wdh; 
fhuzk; (R): Njrpakakhf;fy; mr;rk; jdpahh; epWtdq;fspilNa cs;sJ. 
a. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. Arhp> R jtW 
d. A jtW> R rhp 
 

8. There are three models of circular flow of income, representing the major 
economic system. Correctly match it. 
List I     List II 
A. Two sector model  1. Closed Economy 
B. Three sector model  2. Open Economy 
C. Four sector model  3. Simple economy 
Kf;fpa nghUshjhu mikg;Gfis gpujpepjpj;Jtk; nra;Ak; %d;W tUthapd; tl;l 
Xl;l khjphpfs; cs;sd. rhpahf nghUj;jTk; 
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gl;bay; I    gl;bay; II 
A. ,uz;L Jiwkhjphp  1. %ba nghUshjhuk; 
B. %d;W Jiwkhjphp  2. jpwe;j nghUshjhuk; 
C. ehd;F Jiwkhjphp  3. Vspa nghUshjhuk; 
 A B C  
a. 1 2 3 
b. 3 2 1 
c. 3 1 2 
d. 2 1 3 
 

9. Which of the following is the basic identities of circular flow of income in a four-
sector economy? 
a. Y = C + I  b. Y = C + I + G c. Y = C + I + G + (X – M) d. None of these 
gpd;tUtdtw;Ws; vJ ehd;F JiwnghUshjhu tUtha; tl;l Xl;lj;jpd; 
mbg;gil milahsk; MFk;? 
a. Y = C + I  b. Y = C + I + G c. Y = C + I + G + (X – M) d. VJkpy;iy 
 

10. Who is the father of “Free Market Economy”? 
a. J.M. Keynes  b. Karl Marx c. Alfred Marshall d. Adam Smith 
“jilapy;yh re;ij nghUshjhuj;jpd;” je;ij ahh;? 
a. J.M. fPd;]; b. fhh;y; khh;f;];  c. My;gpul; khh;~y; d. Mlk; ];kpj; 
 

11. The modern concept of GDP was first developed by _______ 
a. Gustav Cassel   b. Thomas Malthus 
c. Simon Kuznets  d. John Robinson 
nkhj;j cs;ehl;L cw;gj;jpapd; (GDP) etPd Nfhl;ghL Kjypy; ________ My; 
cUthf;fg;gl;lJ 
a. F];lht; Nfry;  b. jhk]; khy;J]; 
c. irkd; F];el;];  d. [hd; uhgpd;rd; 
 

12. Who is the father of “Modern Macro Economics”? 
a. J.M. Keynes  b. Adam Smith  c. J.B. Say  d. J.R. Hicks 
etPdNghpay; nghUshjhuj;jpd; je;ij ahh;? 
a. J.M. fPd;];  b. Mlk; ];kpj;  c. J.B. Nr  d. J.R. `pf;]; 
 

13. Which rule is followed in Capitalistic Economy? 
a. Varian Rule b. Golden Rule  c. Silver Rule d. Diamond Rule 
Kjyhspj;Jt nghUshjhuj;jpy; ve;j tpjp gpd;gw;wg;gLfpwJ? 
a. Nthpad; tpjp b. jq;ftpjp   c. nts;sptpjp d. itutpjp 
 

14. Who coined the term “Globalism”? 
a. Jan Tinbergen b. Janet Yellen c. Richard N. Cooper d. Manfred D Steger 
“cyfj;Jtk;” vd;w gjj;ij cUthf;fpath; ahh;? 
a. [hd; bd;ngh;fd;  b. N[dl; nay;nyd; 
c. hpr;rh;l; N. $g;gh;  d. Nkd;gpul; D ];Bfh; 
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15. Brazil is an example of __________ 
a. Mixed Economy   b. Socialistic economy 
c. Capitalistic economy   d. Command economy 
gpNurpy; ___________f;F vLj;Jf;fhl;L MFk; 
a. fyg;G nghUshjhuk;   b. rkj;Jt nghUshjhuk; 
c. Kjyhspj;Jt nghUsjhuk; d. fl;lisg; nghUshjhuk; 
 

16. “The concept of national income is an indispensable preparation for tackling the 
great issues of unemployment, inflation and growth” – who stated? 
a. Simon Kuznets b. Samuelson c. Alfred Marshall d. Fischer 
“nghpa gpur;ridfshd Ntiytha;g;gpd;ik> gztPf;fk; kw;Wk; tsh;r;rp 
Mfpatw;iw rkhspg;gjw;fhf jahhpf;fg;gl;l jtph;f;f Kbahj jahhpg;Ng Njrpa 
tUtha; vDk; fUj;JU MFk;”- ahh; $wpaJ? 
a. irkd; F~;nel;]; b. rhKNty;rd; c. My;/gpul; khh;~y; d. gp];rhh; 
 

17. Choose the correct statement 
1. GDP by expenditure method at market prices = C + I + G – (X + M) 
2. GNP at market prices = (C + I + G + (X – M) + (R – P)) 

a. Only 1 correct  b. Only 2 correct c. Both are correct   d. Both are wrong 
rhpahd thf;fpaj;ij Njh;e;njL 
1. nryTKiwiag; gad;gLj;jp re;ij tpiyapy; fzf;fplg;gLk; GDP = (C + I + 

G – (X + M) 
2. re;ijtpiyapy; GNP = (C + I + G + (X – M) + (R – P)) 
a. 1 kl;Lk; rhp b. 2kl;Lk; rhp  c. ,uz;Lk; rhp d. ,uz;Lk; jtW 
 

18. Which of the following is also called as “Capital consumption Allowance”? 
a. Net Domestic Product  b. Net National Product 
c. NNP at Market Price   d. Depreciation 
gpd;tUtdtw;Ws; vJ “%yjd Efh;T fopT” vd;W miof;fg;gLfpwJ? 
a. epfucs;ehl;Lcw;gj;jp  b. epfuNjrpacw;gj;jp 
c. re;ijtpiyapy; NNP  d. Nja;khdk; 
 

19. GDP deflator = 
a. (Real GDP + Nominal GDP) x 100 
b. (Real GDP – Nominal GDP) x 100 
c. Nominal GDP / Real GDP x 100 
d. Real GDP / Nominal GDP x 100 
GDPFiwg;ghd; = 
a. (cz;ikGDP+gzkjpg;GGDP)x 100 
b. (cz;ikGDP–gzkjpg;GGDP) x 100 
c. gzkjpg;GGDP /cz;ikGDP x 100 
d. cz;ikGDP /gzkjpg;GGDP x 100 
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20. Consider the following 
Assertion (A): Personal income is never equal to the national income. 
Reason (R): The transfer payments are included in personal income. 
a. Both A and R are correct and R is the correct explanation of (A) 
b. Both A and R are correct and R is not the correct explanation of (A) 
c. A is true but R is false 
d. A is false but R is true 
gpd;tUtdtw;iwMa;f 
$w;W(A): jdpegh; tUkhdk; Njrpa tUkhdj;jpw;F rkkhf ,Uf;fhJ 
fhuzk; (R): khw;W nrYj;Jjy;fs; jdpegh; tUkhdj;NjhL Nrh;f;fg;gLfpwJ. 
a. Akw;Wk; R rhp NkYk; R vd;gJ Atpw;F rhpahd tpsf;fkhFk;. 
b. Akw;Wk; R rhp NkYk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. Arhp> R jtW 
d. A jtW> Rrhp 
 

21. Choose the correct statement 

1. 
National income

Per capita income
Population

  

2. National income at constant price = National income at current price 

0 1/P P  

a. only 1 correct  b. only 2 correct c. Both are correct d. Both are false 
rhpahdthf;fpaj;ijNjh;e;njL 

1. 
Njrpa tUkhdk;

jyh tUkhdk; 
kf; fs; njhif

=  

2. epiyahdtpiyapy; NjrpatUkhdk; =elg;Gtpiyapy; NjrpatUtha;  
0 1/P P  

a. 1 kl;Lk; rhp b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp d. ,uz;Lk; jtW 
 

22. Which of the following methods are used to measure national income? 
1. Product method   2. Expenditure method 
3. Income method   4. Value added method 
a. 1, 2  b. 1, 3  c. 1, 2, 3  d. 1, 2, 3, 4 
gpd;tUk; KiwfSs; vijgad;gLj;jpNjrpatUthiamstplyhk;? 
1. cw;gj;jpKiw   2. nryTKiw 
3. tUtha; Kiw   4. kjpg;Gf;$Ljy; Kiw 
a. 1, 2  b. 1, 3  c. 1, 2, 3  d. 1, 2, 3, 4 
 

23. Product method is also called as ________ 
a. Inventory method b. Input method c. Output method  d. None of these 
cw;gj;jpKiw______vd;wk; miof;fg;gLfpwJ. 
a. ruf;FKiw b. cs;sPLKiw c. ntspaPLKiw d. ,itVJkpy;iy 
 

24. Choose the correct formulas 
1. Market Price = Factor cost + Indirect Taxes – Subsidies 
2. National income = Domestic factor income + net factor incomes from 

abroad 
3. Factor cost = Market price – Indirect Taxes + Subsidies 
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a. 1, 3  b. 2  c. 2, 3  d. 1, 2, 3 
rhpahd #j;jpuq;fis Njh;e;njLf;fTk; 
1. re;ijtpiy= fhuzpnryT+kiwKfthpfs; - khdpaq;fs; 
2. NjrpatUtha; =cs;ehl;LfhuzptUtha; +may;ehl;bypUe;Jngwg;gLk; 

epfufhuzptUtha; 
3. fhuzpnryT=re;ijtpiy–kiwKfthpfs; +khdpaq;fs; 
a. 1, 3  b. 2  c. 2, 3  d. 1, 2, 3 
 

25. Choose the correct formulas 
1. Net Indirect Taxes = Indirect Tax – Subsidies 
2. Value of Output = price x quantity sold 
3. Change in Stock = Closing stock – opening stock 
4. Gross value added = value of output – Intermediate Consumption 

a. 1, 3  b. 2, 3  c. 1, 3, 4  d. 1, 2, 3, 4 
rhpahd #j;jpuq;fis Njh;e;njLf;fTk; 
1. epfukiwKfthpfs; =kiwKfthp–khdpaq;fs; 
2. ntspaPl;bd;kjpg;G=tpiyxtpw;gidmsT 
3. ,Ug;gpy; khw;wk; =KbAk; ,Ug;G–njhlf;f ,Ug;G 
4. nkhj;jkjpg;G $l;ly; =cw;gj;jpapd; kjpg;G - ,ilepiyEfh;T 
a. 1, 3  b. 2, 3  c. 1, 3, 4  d. 1, 2, 3, 4 
 

26. Which of the following difficulties involved in Measuring National income? 
1. Transfer payments  2. Unpaid services 3. Capital Gains   
4. Statistical problems  5. Social Accounting 
a. 2, 3  b. 2, 3, 4  c. 1, 2, 3, 4  d. 1, 2, 3, 4, 5 
gpd;tUtdtw;Ws; vJNjrpatUtha; fzf;fPl;by; cs;srpukq;fshFk;? 
1. khw;WnrYj;Jjy;fs;  2. gzk; nrYj;jg;glhjNritfs; 
3. %yjd ,yhgq;fs;  4. Gs;sptptur; rpf;fy;fs; 
5. r%ff; fzf;F 
a. 2, 3  b. 2, 3, 4  c. 1, 2, 3, 4  d. 1, 2, 3, 4, 5 
 

27. Who defines full employment as “that level of employment at which any further 
increase in spending would result in an inflationary spiral of wages and prices”? 
a. J.M. Keynes  b. J.B. Say  c. Lerner  d. J.R. Hicks 
ahh; $w;Wg;gb>KONtiyepiyvd;gJ“$ypAk; tpiyAk; ve;jNtiyepiyapy; 
khwpkhwpmjpfhpf;fpd;wNjhmq;F KO Ntiytha;g;GepyTfpd;wJ”? 
a. J.M. fPd;];  b. J.B. Nr  c. yh;dh;  d. J.R. `pf;]; 
 

28. Which of the following unemployment exist in urban areas of India? 
a. Frictional unemployment  b. Structural unemployment 
c. Open unemployment  d. All of these 
gpd;tUk; Ntiyapd;ikfSs; vJ ,e;jpahtpd; efh;GwgFjpfspy; fhzg;gLfpwJ? 
a. gpwo;r;rp Ntiyapd;ik  b. mikg;Grhh; Ntiyapd;ik 
c. jpwe;jNtiyapd;ik   d. ,it midj;Jk; 
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29. _______ unemployment exists during the downturn phase of trade cycle in the 
economy? 
a. Structural unemployment   b. Frictional unemployment 
c. Cyclical unemployment  d. Technical unemployment 
fPo;Nehf;fpa gFjpapy; xU nghUshjhuk; ,Uf;Fk; nghOJ epfo;fpd;w 
Ntiyapd;ikf;F________vd;W ngah; 
a. mikg;Grhh; Ntiyapd;ik  b. gpwo;r;rp Ntiyapd;ik 
c. thzpgr; Roy; Ntiyapd;ik d. njhopy;El;gNtiyapd;ik 
 

30. Rise in demand for mobile phones has adversely affected the demand for 
cameras, tape recorders etc. This condition creates which type of 
unemployment? 
a. Cyclical unemployment    b. Structural unemployment 
c. Educated unemployment   d. Frictional unemployment 
ifNgrpapd; Njit mjpfhpj;jjhy; Nfkuh kw;Wk; Nlg; nuf;fhh;lh;fspd; Njit 
Fiwe;Js;sJ. ,e;j epiy ve;j tifahd Ntiyapd;ikia cUthf;FfpwJ? 
a. thzpgr; Roy; Ntiyapd;ik  b. mikg;Grhh; Ntiyapd;ik 
c. fw;Nwhh; Ntiyapd;ik   d. gpwo;r;rp Ntiyapd;ik 
 

31. Consider the following 
Assertion (A): In Disguised unemployment, marginal productivity of labour is 
zero or less or negative. 
Reason (R): More people participate in a work than needed. 
a. Both A and R are correct and R is the correct explanation of A 
b. Both A and R are correct but R is not the correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 
gpd;tUtdtw;iw Ma;f 
$w;W(A): kiwKfNtiyapd;ikapy; ciog;ghshpd; ,Wjpepiycw;gj;jpj;jpwd; 
g+[;akhfNth>FiwthfNthmy;yJvjph;kiwahfNth ,Uf;Fk;. 
fhuzk; (R): xUNtiyapy; Njitf;Fmjpfkhdkf;fs; gq;Fnfhs;fpwhh;fs;. 
a. Akw;Wk; R rhpNkYk; Rvd;gJAtpw;Frhpahdtpsf;fkhFk;. 
b. A kw;Wk; R rhp NkYk; R vd;gJ A tpw;Frhpahd tpsf;fky;y 
c. A rhp>R jtW 
d. A jtW>R rhp 
 

32. “Each product produced in the economy creates demand equal to its value in the 
market” – whose law is this? 
a. Mill’s law b. Pigou’s law c. Culbertson’s law  d. Say’s law 
“nghUshjhuj;jpy; cw;gj;jpnra;ag;gLk; xt;nthUnghUSk; re;ijapy; mjd; 
kjpg;Gf;FrkkhdNjitiacUthf;FfpwJ” - ,J ahUilatpjp? 
a. kpy;ypd; tpjp b. gpFtpd; tpjp c. fy;gh;l;rd;dpd; tpjp  d. Nrapd; tpjp 
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33. Which of the following factors are taken into consideration while making 
investment decision? 
a. The cost of the capital asset b. The market rate of interest 
c. (a) and (b)    d. None of these 
gpd;tUk; fhuzpfSs; vJKjyPl;L Kbit Nkw;nfhs;Sk; nghJftdj;jpy; 
vLj;Jf; nfhs;sg;gLfpd;wJ? 
a. %yjdj;jpd; nryT   b. mq;fhbapy; cs;stl;btpfpjk; 
c. (a)kw;Wk; (b)    d. ,it VJkpy;iy 
 

34. J.M. Keynes was born in _________ 
a. New York b. Cambridge  c. Oxford   d. Edinburgh 
J.M. fPd;]; _________,y; gpwe;jhh;. 
a. epA+ahh;f;  b. Nfk;gphpl;[;  c. Mf;];Nghh;L  d.vbd;gh;f; 
 

35. Which of the following determines the level of employment in the Economy? 
a. Consumption demand  b. Investment demand 
c. Government expenditure  d. Effective demand 
gpd;tUtdtw;Ws; vJxUnghUshjhuj;jpd; Ntiyepiyiaeph;zapf;fpwJ? 
a. Efh;Tj; Njit   b. KjyPl;Lj; Njit 
c. muRr; nryT    d. tpisTj; Njit 
 

36. Which of the following determines the output in the Economy? 
a. Consumption Demand  b. Investment Demand 
c. Aggregate Demand   d. Effective Demand 
gpd;tUtdtw;Ws; vJxUnghUshjhuj;jpd; cw;gj;jpiaeph;zapf;fpwJ? 
a. Efh;Tj; Njit   b. KjyPl;Lj; Njit 
c. njhFNjit    d. tpisTj; Njit 
 

37. Choose the correct formulas 

1. Consumption
The average propensity to consume

Income
  

2. arg
Change in Consumption

The M inal propensity to consume
Change in Income

  

3. Pr
Saving

The Average opensity to save
Income

  

a. 1, 2  b. 2, 3  c. 1, 3  d. 1, 2, 3 
rhpahd #j;jpuq;fis Njh;e;njLf;fTk; 

1. 
Efh; T

ruhrhp Efh; T ehl; lk; 
tUtha;

 

2. 
Efh; T khw; wk;

,Wjpepiy Efh; T ehl; lk; 
tUtha; khw; wk;

 

3. 
Nrkpg; G 

ruhrhp Nrkpg; G ehl; lk; 
tUtha; 

 

a. 1, 2  b. 2, 3  c. 1, 3  d. 1, 2, 3 
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38. “There is a tendency on the part of the people to spend on consumption less than 
the full increment of income” – what law is this? 
a. Keynes’s psychological law of consumption 
b. Say’s psychological law of consumption 
c. Mill’s Psychological law of consumption 
d. Hick’s psychological law of consumption 
“tUkhdj;jpd; KO mjpfhpg;igtpl>Efh;Tf;FFiwthfnrytpLk; Nghf;Fkf;fspd; 
jug;gpy; cs;sJ” ,J vd;dtpjp? 
a. fPd;]pd; Efh;Tgw;wpacstpay; tpjp 
b. Nrapd; Efh;Tgw;wpacstpay; tpjp 
c. kpy;ypd; Efh;Tgw;wpacstpay; tpjp 
d. `pf;rpd; Efh;Tgw;wpacstpay; tpjp 

 
39. “The community with more equal distribution of income tends to have high 

propensity to consume” who stated? 
a. B.R. Ambedkar b. Sanjeev Goyal  c. V.K.R.V. Rao d. Abid Hussain 
“rkepiytUkhdgfph;Tilar%fj;jpy; mjpfkhdEfh;TtpUg;gk; ,Uf;Fk;” ahh; 
$wpaJ? 
a. B.R. mk;Ngj;fh;  b. rQ;rpt; Nfhay;  c. V.K.R.V. uht;  d. mgpj; `_ird; 
 

40. Which type of employment occurs during certain seasons of the year? 
a. Seasonal Unemployment  b. Disguised unemployment 
c. Frictional unemployment  d. Structural unemployment 
ve;j tifahd Ntiyapd;ik xUtUlj;jpd; rpy fhyq;fspy; kl;Lk; epyTfpwJ? 
a. gUtfhy Ntiyapd;ik  b. kiwKf Ntiyapd;ik 
c. gpwo;r;rp Ntiyapd;ik  d. mikg;Grhh; Ntiyapd;ik 

 
41. A student buys 12 pens for Rs. 96 and sells 10 pens for Rs. 90. Find profit or loss 

per cent. 
a. 12.5%  b. 10.5%   c. 8%   d. 11.1% 
xUkhztu; 12 Ngdhf;fis&.96 - f;Fthq;Ffpwhu;>NkYk; 10 Ngdhf;fis&.90 - 
f;Ftpw;fpwhu;. vdpy;>yhgk; my;yJ e~;l rjtPjj;ijf; fz;lwpaTk;. 
a. 12.5%  b. 10.5%   c. 8%   d. 11.1% 

 
42. A man bought an old bicycle for Rs.1,250. He spent Rs.250 on its repairs. He then 

sold it for Rs.1400. Find his gain or loss % 

a. 2
6

3
%  b.6%   c. 1

6
3
%  d. 1

3
3

% 

xUegu; xU gioakpjptz;bia &. 1,250 f;F thq;fpdhu;. mjidr; rPu;gLj;j 
&.250 nryT nra;jhu;. mtu;> mjid &.1400f;F tpw;whu;. mtupd; yhgj;ij 
my;yJ el;lj;ijf; fhz;f 

a. 2
6

3
%  b.6%   c. 1

6
3
%  d. 1

3
3

% 

 



DM 

10 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 

43. A trader mixes two kinds of oil, one costing Rs. 100 per Kg. and the other costing 
Rs. 80 per Kg. in the ratio 3: 2 and sells the mixture at Rs.101.20 per Kg. Find his 
profit or loss percent. 
a. Profit 12%  b. Profit 10%  c. Loss 10% d. Loss 12% 
fpNyh&.100>&.80 cs;s ,uz;Ltifahdvz;iziatpw;gidahsu; xUtu; 3 : 2 
vd;wtpfpjj;jpy; fye;Jmf;fyitiaf; fpNyh&.101.20f;F tpw;gidr; 
nra;fpd;whu;.mtuJyhgmy;yJel;lrjtPjj;ijf; fhz;f. 
a. Profit 12%  b. Profit 10%  c. Loss 10% d. Loss 12% 

 
44. The cost price of 20 articles is the same as selling price of x articles. If the profit is 

25% then the number of articles is 
20 nghUl;fspd; thq;fpa tpiyAk;> xnghUl;fs; tpw;w tpiyAk; rkk;. ,jpy; 
yhgrjtPjk; 25%vdpy; tpw;w nghUl;fspd; vz;zpf;ifahdJ 
a. 25  b. 18  c. 16  d. 15 
 

45. Find the single discount equivalent to a Successive discount of 30%, 20% and 
10%. 
30%, 20% kw;Wk; 10% vd;w mstpy; gbg;gbahd js;Sgbf;F ,izahd xw;iwj; 
js;Sgbiaf; fz;Lgpbf;fTk;. 
a. 32.6%  b. 49.6%  c. 50.4%  d. 35% 

 
46. A shop keeper marked the price of an article as 15% more on its cost price and 

then offered 15% reduction for the article, then he got 
a. 1% Profit  b. 1% Loss c. Neither Profit nor Loss d. 2.25% Loss 
xUfilf;fhuu; Xu nghUspd; mlf;f tpiyapy; 15 rjtPjk; mjpfkhf;fp mjd; 
Fwpj;j tpiy Mf;Ffpwhu;. mjpy; 15 rjtPjk; js;Sgbje;J tpw;gid nra;fpwhu; 
vdpy; filf;fhuu; mile;jJ.  
a. 1%yhgk;  b. 1%el;lk;  c. yhg el;lk; ,y;iy d. 2.25% el;lk; 

 
47. When a man sold an article for Rs. 900 and made a loss of 10%. At what price 

should he sell it so as to incur a loss of only 5%? 
xU kdpjd; xUnghUis 900 &gha;f;F tpw;W 10% e~;lk; milfpwhu;. 5%kl;LNk 
e~;lk; milAk; tifapy; mg;nghUis vd;d tpiyf;Ftpw;f Ntz;Lk;? 
a. Rs. 920  b. Rs. 940  c. Rs. 950  d. Rs. 980 

 
48. It costs Re. 1, to photocopy a sheet of paper. However, 2% discount is allowed on 

all photocopies done after first 1000 sheets. How much will it cost to copy 5000 
sheets of paper?  
xUjhisefy; vLf;f&.1 MfpwJ. Kjy; 1000 jhs;fSf;Fg; gpwFvLf;Fk; 
efy;fSf;F 2%js;Sgbfpilf;fpwJvdpy;> 5000 jhs;fisefy; 
vLf;fvt;tsTnryTMFk;.  
a. Rs. 3920   b. Rs. 3980   c. Rs. 4900   d. Rs. 4920 
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49. The profit earned after selling an article for Rs. 1754 is same as loss incurred after 
selling the article for Rs. 1492. What is the cost price of the article?  
xUnghUis &.1754f;F tpw;gid nra;tjhy; fpilf;Fk; ,yhgk;> me;jg; nghUis 
&.1492f;F tpw;gid nra;tjhy; fpilf;Fk; el;lj;jpw;Fr; rkk; MFk;. me;jg; 
nghUspd; mlf;ftpiyvd;d?  
a. ₹ 1623   b. ₹ 1523   c. ₹ 1689   d. ₹ 1589  

 
50. A merchant has 100 kg. of sugar, part of which he sells at 7% profit and the rest 

at 17% profit. He gains 10% on the whole. Find how much he sold at 7% profit. 
xU tpahghhp jd;dplKs;s 100 fpNyh rh;f;fiuapy; xU gFjpia7% 
,yhgj;jpw;Fk; kPjpia 17% ,yhgj;jpw;Fk; tpw;whh;. nkhj;jj;jpy; 10%yhgk; 
mile;jhy; 7% ,yhgj;jpy; tpw;wrh;f;fiuapd; msT? 
a. 60 kg   b. 70 kg  c. 30 kg  d. 75 kg 

 
51. If 20% discount on the marked price and then another 5% discount on the new 

price is given then the overall discount is  
Fwpj;jtpiyapypUe;J 20%js;SgbAk;> ,e;j GJ tpiyapypUe;JNkYk; 
5%js;SgbAk; nfhLf;fg;gl;lhy; nkhj;jj;jpy; js;Sgb 
a.22%   b. 23.5%   c. 24%   d. 25% 

 
52. X sold an article to Y at a gain of 10%, Y sold it to Z at a gain of 20%. If Z paid Rs. 

2,640 for it, what did it cost to X? (in Rs.) 
a. ì  1500   b. ì   1700  c. ì   2000  d. ì   2500 
xUnghUisX, 10% ,yhgtPjj;jpy; Yf;Fk;>Ymg;nghUisZf;F20% ,yhgtPjj;jpYk; 
tpw;fpwhh;fs;. Zmjw;F&.2>640 nfhLj;jpUe;jhy;>Xmijthq;fpdtpiy? 
a. ì  1500   b. ì   1700  c. ì   2000  d. ì   2500 

 
53. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then 

sells it after allowing a discount of 20%. Find the profit percent. 
xUtpahghhpxUnghUis&.1>200 thq;fpdhh;.gpd;Gmjd;mlf;ftpiyf;FNky; 
30%Fwpj;jtpiyf;F 20%js;SgbnfhLf;fpwhh;. tpw;wtpiyapd; yhg%vd;d? 
a. 5%   b. 4 ½ %  c. 4%   d. 6% 

 
54. The price of an item inclusive of VAT is Rs. 9,720. If VAT is 8 % then the cost 

price of the item is  
kjpg;G$l;LthpAld; xUnghUspd; tpiy&. 9>720. kjpg;G $l;Lthp8%vdpy; mjd; 
mlf;ftpiyvd;d? 
a. Rs.9,000   b. Rs. 9,100  c. Rs. 9,120  d. Rs.9,200 

 
55. A fruit seller bought 8 boxes of grapes at Rs. 150 each. One box was damaged. 

He sold the remaining boxes at Rs. 190 each. Find the profit / loss percentage. 
a. Profit 130%  b. Profit 10.83%  c. Loss 130% d. Loss 10.83% 
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xU go tpahghhp 8 ngl;b>jpuhl;irfis>xUngl;b&.150 tPjk; thq;fpdhh;. mjpy; 
xUngl;bjpuhl;irmOfptpLfpwJ. kPjKs;s ngl;bfisxUngl;b&.190 
vd;wtpiyf;Ftpw;fpwhh;. ,yhg/ el;l rjtPjk; fhz;.  
a. 130%yhgk;  b. 10.83%yhgk;  c. 130%el;lk; d. 10.83%el;lk; 

 
56. A man sells two wrist watches at ` 594 each. One he gains 10%and on the other 

he loses 10%.  Find his gain or loss percent on the whole  
a. 12% loss  b. 1% loss  c. 1% Profit   d. 12% profit 
,Uiff;fbfhuq;fs; xt;nthd;iwAk; 594 &gha;f;FxUth; tpw;whh;.  
,t;thWtpw;wjpy; xd;wpy; 10%yhgKk;>kw;wjpy; 10%el;lKk;>mtUf;F Vw;gl;lJ. 
nkhj;jj;jpy; mtUf;FVw;gl;lyhgk; my;yJel;l rjtPjj;ijf; fhzTk;.  
a. 12%el;lk; b. 1%el;lk;  c. 1%yhgk;  d. 12%yhgk; 

  
57. A man buys 10 articles for Rs. 8 and sells them at the rate Rs. 1.25 per article. His 

gain is  
xUkdpjd; 10 Gjpdq;fs; & 8 f;Fthq;fpmtw;iw&. 1.25 tPjk; 10 
Gjpdq;fistpw;whh;. mtUilayhgk; 
a. 20%  b. 50%  c. 19 ½%  d. 56 ¼% 

 
58. A man bought toffees at the rate of 15 for a rupee and sold them at the rate of 12 

for a rupee.  His gain per cent is: 
xU egh; xU &gha;f;F 15 vd;w tPjj;jpy; ,dpg;Gfis thq;fp> mtw;iw xU 
&gha;f;F 12 vd;w tPjj;jpy; tpw;gid nra;jhy;> mtUila ,yhg tpOf;fhL: 
a. 20%  b. 25%  c. 33.33%  d. none  

 
59. By selling 240 apples, a fruit seller gains the cost price of 20 apples. What is his 

gain percentage? 
xU go tpahghhp 240 Mg;gps;fis tpw;gid nra;J> 20 Mg;gps;fspd; mlf;f 
tpiyf;Fr; rkkhd ,yhgj;ijg; ngWfpwhh;. mtuJ ,yhgk;  vj;jid rjtPjk; 
vd;W fz;Lgpbf;fTk;? 

a. 7 1

3
%             b. 8 1

9
%            c. 9 1

3
%             d. 8 1

3
% 

    
60. A Trader has 500 kg of rice, part of which he sells at 8% profit and the rest at 18 

% profit. He gains 10 % on the whole. The quantity sold at 18 % profit is 
a. 100 kg  b. 200 kg   c. 300 kg   d. 400 kg 
xU tzpfh; jd;dplKs;s xU gFjp mhprpia 8 rjtpfpj yhgj;jpw;Fk; kPjpia 18 
rjtpfpj yhgj;jpw;Fk; tpw;gid nra;jjpy; nkhj;jKs;s 500 fpNyh mhprpf;F 10 
rjtpfpj yhgk; ngw;whh;. mth; 18 rjtpfpj yhgj;jpw;F tpw;w mhprpapd; msthdJ? 
a. 100 kg  b. 200 kg   c. 300 kg   d. 400 kg 
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TEST III 
UNIT VI INDIAN ECONOMY & UNIT X APTITUDE 

AND MENTAL ABILITY 
 

1 2 3 4 5 6 7 8 9 10 
D C B A A B A C C D 
11 12 13 14 15 16 17 18 19 20 
C A B D A B B D C A 
21 22 23 24 25 26 27 28 29 30 
A D A D D C C D C B 
31 32 33 34 35 36 37 38 39 40 
A D C B D C D A C A 
41 42 43 44 45 46 47 48 49 50 
A A B C B D C D A B 
51 52 53 54 55 56 57 58 59 60 
C C C A B B D B D A 
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41. A student buys 12 pens for Rs. 96 and sells 10 pens for Rs. 90. Find profit or loss 
per cent. 
a. 12.5%   b. 10.5%   c. 8%   d. 11.1%  
xU khztu; 12 Ngdhf;fis &.96 - f;F thq;Ffpwhu;> NkYk; 10 Ngdhf;fis 
&.90 - f;F tpw;fpwhu;. vdpy;> yhgk; my;yJ e~;l rjtPjj;ijf; fz;lwpaTk;. 
a. 12.5%   b. 10.5%   c. 8%   d. 11.1%  
 
Explanation: 
 

   
 

42. A man bought an old bicycle for ₹ 1,250. He spent ₹ 250 on its repairs. He then 
sold it for ₹ 1400. Find his gain or loss % 

a.
2

6
3

%   b.6%   c. 
1

6
3

%  d. 
1

3
3

% 

xU egu; xU gioa kpjptz;bia &. 1,250 f;F thq;fpdhu;. mjidr; rPu;gLj;j 
&.250 nryT nra;jhu;. mtu;> mjid &.1400f;F tpw;whu;. mtupd; yhgj;ij 
my;yJ el;lj;ijf; fhz;f 

a.
2

6
3

%   b.6%   c. 
1

6
3

%  d. 
1

3
3

% 

 
Explanation: 

 
CP = 1250 + 250 = Rs. 1500  SP = Rs. 1400 

CP > SP.  There is a loss. 

Loss % = 100
CP SP

CP


  

   = 
100

100
1500

  = 
2

6
3

%  

 
43. A trader mixes two kinds of oil, one costing ₹ `100 per Kg. and the other 

costing ₹ 80 per Kg. in the ratio 3: 2 and sells the mixture at ₹ 101.20 per Kg. 
Find his profit or loss percent. 
a. Profit 12%  b. Profit 10%  c. Loss 10% d. Loss 12% 
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fpNyh &.100> &.80 cs;s ,uz;L tifahd vz;izia tpw;gidahsu; 
xUtu; 3 : 2 vd;w tpfpjj;jpy; fye;J mf;fyitiaf; fpNyh &.101.20f;F 
tpw;gidr; nra;fpd;whu;.mtuJ yhg my;yJ el;l rjtPjj;ijf; fhz;f. 
a. Profit 12%  b. Profit 10%  c. Loss 10% d. Loss 12% 

 
Explanation: 

 
Ratio of mixture of oils = 3:2 
Cost of 1st oil = Rs.100 per kg. 
Cost of 2nd oil = Rs.80 per kg. 
Cost price of mixture =  
                                   =  
                                   =  
The cost price of mixture is Rs.460 for 5 kg 

 
Profit = Selling price - Cost price 
Profit = Rs. 101.20 - Rs .92 
Profit = Rs. 9.20 

 
Profit% = 10% 

 
44. The cost price of 20 articles is the same as selling price of x articles. If the 

profit is 25% then the number of articles is 
a) 25  b) 18  c) 16   d) 15 
20 nghUl;fspd; thq;fpa tpiyAk;> x nghUl;fs; tpw;w tpiyAk; rkk;. ,jpy; 
yhg rjtPjk; 25% vdpy; tpw;w nghUl;fspd; vz;zpf;ifahdJ  
a) 25  b) 18  c) 16  d) 15 

 
Explanation: 

 
Let C.P of each article be Re. 1. 
C.P of x articles = Rs. x and S.P of x articles = Rs. 20. 
Profit = Rs. (20 - x). 
20

100 25

2000 100 25

125 2000

16

x

x

x x

x

x


 

  

 

   
 

45. Find the single discount equivalent to a Successive discount of 30%, 20% and 
10%. 
a. 32.6%  b. 49.6%  c. 50.4%  d. 35% 
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30%, 20% kw;Wk; 10% vd;w mstpy; gbg;gbahd js;Sgbf;F ,izahd 
xw;iwj; js;Sgbiaf; fz;Lgpbf;fTk;. 
a. 32.6%  b. 49.6%  c. 50.4%  d. 35% 

 
Explanation: 

 

1r  = 30% 
2r  = 20% 

3r  = 10% 

Required discount = 31 21 1 1 1 100%
100 100 100

rr r    
        
    

 

       = 
7 8 9

1 100%
10 10 10

    
     
    

 

   = 49.6% 
 
46. A shop keeper marked the price of an article as 15% more on its cost price and 

then offered 15% reduction for the article, then he got 
a) 1% Profit     b) 1% Loss   
c) Neither Profit nor Loss   d) 2.25% Loss 
xU filf;fhuu; xU nghUspd; mlf;f tpiyapy; 15 rjtPjk; mjpfkhf;fp 
mjd; Fwpj;j tpiy Mf;Ffpwhu;. mjpy; 15 rjtPjk; js;Sgb je;J tpw;gid 
nra;fpwhu; vdpy; filf;fhuu; mile;jJ.  
a) 1% yhgk;     b) 1% el;lk; 
c) yhgKk; ,y;iy el;lKk; ,y;iy d) 2.25% el;lk; 

 
Explanation: 
 
Successive percentage = x - y - (xy/100)  
Required percentage = 15 - 15 - (15 × 15)/100  
⇒ - 2.25%  
(-) negative sign indicates the loss  
∴ The shopkeeper got loss of 2.25% 

 
 
47. When a man sold an article for Rs. 900 and made a loss of 10%. At what price 

should he sell it so as to incur a loss of only 5%? 
a. Rs. 920 b. Rs. 940  c. Rs. 950  d. Rs. 980 

xU kdpjd; xU nghUis 900 &gha;f;F tpw;W 10% e~;lk; milfpwhu;. 5% 
kl;LNk e~;lk; milAk; tifapy; mg;nghUis vd;d tpiyf;F tpw;f 
Ntz;Lk;? 
a. Rs. 920 b. Rs. 940  c. Rs. 950  d. Rs. 980 

 
Explanation: 
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48. It costs Re. 1, to photocopy a sheet of paper. However, 2% discount is allowed 

on all photocopies done after first 1000 sheets. How much will it cost to copy 
5000 sheets of paper?  
a. Rs. 3920   b. Rs. 3980   c. Rs. 4900   d. Rs. 4920  
xU jhis efy; vLf;f &.1 MfpwJ. Kjy; 1000 jhs;fSf;Fg; gpwF vLf;Fk; 
efy;fSf;F 2% js;Sgb fpilf;fpwJ vdpy;> 5000 jhs;fis efy; vLf;f 
vt;tsT nryT MFk;.  
a. Rs. 3920   b. Rs. 3980   c. Rs. 4900   d. Rs. 4920 

 
Explanation: 
 
cost of first 1000 sheet =1000

98
cost of 4000sheet = 4000 =3920

100

total cost of 5000sheet = 1000 + 3920 = 4920

  

 

49. The profit earned after selling an article for ₹  1754 is same as loss incurred 
after selling the article for ì 1492. What is the cost price of the article?  

a. ₹  1623    b. ₹  1523   c. ₹ 1689   d. ₹  1589  
xU nghUis ₹ 1754f;F tpw;gid nra;tjhy; fpilf;Fk; ,yhgk;> me;jg; 
nghUis ₹ 1492f;F tpw;gid nra;tjhy; fpilf;Fk; el;lj;jpw;Fr; rkk; MFk;. 
me;jg; nghUspd; mlf;f tpiy vd;d?  
a. ₹  1623    b. ₹  1523   c. ₹ 1689   d. ₹  1589  

 
Explanation: 

  
Let C.P. = Rs. x 
Then, 1754 - x = x - 1492 
⇒ 2x = 3246 
⇒ x = 1623 

 
50. A merchant has 100 kg. of sugar, part of which he sells at 7% profit and the 

rest at 17% profit. He gains 10% on the whole. Find how much he sold at 7% 
profit. 
a. 60 kg   b. 70 kg  c. 30 kg  d. 75 kg 



DM 

18 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  
 

xU tpahghhp jd;dplKs;s 100 fpNyh rh;f;fiuapy; xU gFjpia 7% 
,yhgj;jpw;Fk; kPjpia 17% ,yhgj;jpw;Fk; tpw;whh;. nkhj;jj;jpy; 10% yhgk; 
mile;jhy; 7% ,yhgj;jpy; tpw;w rh;f;fiuapd; msTs 
a. 60 kg   b. 70 kg  c. 30 kg  d. 75 kg 

 
Explanation: 

 
Let x kg of sugar was sold at 7% profit 

     and (100 – x) kg of sugar was sold at 17% profit 
Gain = 10% 

Now,  
7% of x + 17% of (100 – x) = 10% of 100 

      
7 17(100 )

100 100

x x
  = 

10 100

100


 

     10x = 700 
         x = 70 kg 

 
51. If 20% discount on the marked price and then another 5% discount on the 

new price is given then the overall discount is  
a.22%   b. 23.5%   c. 24%   d. 25%  
Fwpj;j tpiyapypUe;J 20% js;SgbAk;> ,e;j GJ tpiyapypUe;J NkYk; 5% 
js;SgbAk; nfhLf;fg;gl;lhy; nkhj;jj;jpy; js;Sgb  
a.22%   b. 23.5%   c. 24%   d. 25% 

 
Explanation: 
 
Let market price = 100 
20% discount is given on market price. 
20% of 100 = 100 × 20/100 = 20 
Price after discount = 100-20 = 80 
5% discount is given on new price 
5% of 80 = 80 × 5/100 = 4 
price after discount = 80-4 = 76 
So final price = 76 
initial price = 100 
discount amount = 100 -76 = 24 
discount percentage = 24/100 × 100 =24% 
 
Thus overall discount is 24% 

 
52. X sold an article to Y at a gain of 10%, Y sold it to Z at a gain of 20%. If Z paid 

Rs. 2,640 for it, what did it cost to X? (in Rs.) 
a. ì  1500   b. ì   1700  c. ì   2000  d. ì   2500 
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xU nghUis X, 10% ,yhg tPjj;jpy; Y f;Fk;> Y mg;nghUis Zf;F 20% 
,yhg tPjj;jpYk; tpw;fpwhh;fs;. Z mjw;F &.2>640 nfhLj;jpUe;jhy;> X mij 
thq;fpd tpiy? 
a. ì  1500   b. ì   1700  c. ì   2000  d. ì   2500 

 
Explanation: 

 
Let the CP be x 

X’s SP = 
110

100
x  = 

11

10
x  

Y’s SP = 
11

10
x

120

100
  = 

132

100
x  

          
132

100
x  = 2640 

      x = Rs. 2000  
 
 
 
53. A trader buys an article for Rs. 1,200 and marks it 30% above the C.P. He then 

sells it after allowing a discount of 20%. Find the profit percent. 
a. 5%   b. 4 ½ %  c. 4%   d. 6% 
xU tpahghhp xU nghUis &.1>200 thq;fpdhh;. gpd;G mjd;mlf;ftpiyf;F 
Nky; 30% Fwpj;j tpiyf;F 20% js;Sgb nfhLf;fpwhh;. tpw;w tpiyapd; yhg 
% vd;d? 
a. 5%   b. 4 ½ %  c. 4%   d. 6% 
 
Explanation: 

 
CP = Rs. 1200 

            MP = 
130

1200
100

  = Rs. 1560 

Discount = 20% 

Then SP = 
80

1560
100

  = Rs. 1248 

Profit % = 100
SP CP

CP


  

     = 
48

100
1200

  = 4% 

 
 
54. The price of an item inclusive of VAT is Rs. 9,720. If VAT is 8 % then the cost 

price of the item is  
a. Rs.9,000  b. Rs. 9,100  c. Rs. 9,120  d. Rs.9,200 
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kjpg;G$l;L thpAld; xU nghUspd; tpiy &. 9>720. kjpg;G $l;L thp 8% 
vdpy; mjd; mlf;f tpiy vd;d? 
a. Rs.9,000  b. Rs. 9,100  c. Rs. 9,120  d. Rs.9,200 
Explanation: 

 
Let CP = Rs. x  VAT = 8% 

Now, x + 8% of x = 9720 

      
8

100

x
x   = 9720 

     x = Rs. 9000 
 
55. A fruit seller bought 8 boxes of grapes at Rs. 150 each. One box was damaged. 

He sold the remaining boxes at Rs. 190 each. Find the profit / loss percentage. 
xU go tpahghhp 8 ngl;b> jpuhl;irfis> xU ngl;b &.150 tPjk;  thq;fpdhh;. 
mjpy; xU ngl;b jpuhl;ir mOfp tpLfpwJ. kPjKs;s  ngl;bfis xU ngl;b 
&.190 vd;w tpiyf;F tpw;fpwhh;. ,yhg  / el;l  rjtPjk; fhz;.  
a. Profit 130%  b. Profit 10.83%  c. Loss 130%  d. Loss 10.83% 
 
Explanation: 

 
CP of 8 boxes = 8150 = Rs. 1200 

1 box is damaged. 
So, SP of 7 boxes = 7190 = Rs.1330 

SP > CP.  There is a profit. 

Profit % = 100
SP CP

CP


  

     = 
130

100
1200

  = 10.83% 

 
56. A man sells two wrist watches at ` 594 each. One he gains 10%and on the 

other he loses 10%.  Find his gain or loss percent on the whole  
,U iff;fbfhuq;fs; xt;nthd;iwAk; 594 &gha;f;F xUth; tpw;whh;.  ,t;thW 
tpw;wjpy; xd;wpy; 10% yhgKk;> kw;wjpy; 10% el;lKk;> mtUf;F  Vw;gl;lJ. 
nkhj;jj;jpy; mtUf;F Vw;gl;l yhgk; my;yJ el;l  rjtPjj;ijf; fhzTk;.  

    a. 12% loss  b. 1% loss  c. 1% Profit  d. 12% profit  
 
Explanation: 

 
SP = Rs. 594   
Gain = 10% 

       CP of 1st watch = 
100

100 %
SP

profit



 

              = 
100

594
100 10




 = Rs. 540 
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Loss = 10% 

CP of the 2nd watch = 
100

100 %
SP

loss



 

    = 
100

594
100 10




= Rs. 600 

Total CP = 540 + 600 = Rs. 1200 
Total SP = 594 + 594 = Rs. 1188 

CP > SP.  There is a loss. 

Loss % = 100
CP SP

CP


  

   = 
12

100
1200

  = 1% 

 
57. A man buys 10 articles for Rs. 8 and sells them at the rate Rs. 1.25 per article. 

His gain is  
xU kdpjd; 10 Gjpdq;fs; & 8 f;F thq;fp mtw;iw &. 1.25 tPjk; 10 
Gjpdq;fis tpw;whh;. mtUila yhgk; 
a. 20%  b. 50%  c. 19 ½%  d. 56 ¼% 
 
Explanation: 

 
CP of 10 articles = Rs. 8 
 SP of 10 articles = 101.25 = Rs. 12.5 
SP > CP.  There is a gain. 

Gain % = 
4.5

100
8
  = 56.25% 

 
58. A man bought toffees at the rate of 15 for a rupee and sold them at the rate of 

12 for a rupee.  His gain per cent is: 
xU egh; xU &gha;f;F 15 vd;w tPjj;jpy; ,dpg;Gfis thq;fp> mtw;iw  xU 
&gha;f;F 12 vd;w tPjj;jpy; tpw;gid nra;jhy;> mtUila ,yhg  tpOf;fhL: 
a. 20%   b. 25%  c. 33.33%  d. none  
 
Explanation: 

 
CP = 15 for a rupee  SP = 12 for a rupee 

 12 = 
100

15
100 x

 
 

 
 

      100 + x = 
1500

12
 

   x = 25% 
 
 

59. By selling 240 apples, a fruit seller gains the cost price of 20 apples. What is 
his gain percentage? 
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xU go tpahghhp 240 Mg;gps;fis tpw;gid nra;J> 20 Mg;gps;fspd; mlf;f 
tpiyf;Fr; rkkhd ,yhgj;ijg; ngWfpwhh;. mtuJ ,yhgk;  vj;jid rjtPjk; 
vd;W fz;Lgpbf;fTk;? 

a. 7 
1

3
%             b. 8 

1

9
%            c. 9 

1

3
%             d. 8

1

3
% 

 
Explanation: 

 
Profit in selling 240 apples = CP of 20 apples 

Profit in selling     1   apple = 
20

240
CP  = 

1

12
CP  

   Profit = SP – CP  

    
1

12
CP  = SP – CP  

     SP = 
13

12
CP  

        SP = 
100 %

100

profit
CP

 
 

 
 

        
13

12
CP  = 

100 %

100

profit
CP

 
 

 
 

        Profit = 
1

8
3

% 

 
60. A Trader has 500 kg of rice, part of which he sells at 8% profit and the rest at 

18 % profit. He gains 10 % on the whole. The quantity sold at 18 % profit is 
a. 100 kg  b. 200 kg   c. 300 kg   d. 400 kg 
xU tzpfh; jd;dplKs;s xU gFjp mhprpia 8 rjtpfpj yhgj;jpw;Fk; kPjpia 
18 rjtpfpj yhgj;jpw;Fk; tpw;gid nra;jjpy; nkhj;jKs;s 500 fpNyh mhprpf;F 
10 rjtpfpj yhgk; ngw;whh;. mth; 18 rjtpfpj yhgj;jpw;F tpw;w mhprpapd; 
msthdJ? 
a. 100 kg  b. 200 kg   c. 300 kg   d. 400 kg 

 
Explanation: 

 
Let the amount of rice sold at profit of 8% is x 

       and the amount of rice sold at profit of 18% is (500 – x). 
Now, given 

  8% of x + 18% of (500 – x) = 10% of 500 

         
8 18(500 )

100 100

x x
  = 

10 500

100


 

       8x + 9000 – 18x = 5000 
       x = 400 
          (500 – x) = 100 kg 

 


